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f asic: }1 1 Amit started walking to irds the sun in the morning. 1

After some time, he turne 1 turne -@ nd
I towards thgam In whic @ he going now?
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a) North «/ 6 |

b) South No’&“’\
c) East

d) West -




Q. Sundar runs 20 m towarc

:Fn‘d% nd turns to 1
e S ‘ .4@§and runs 10 m. Then he tins to thq@ind
‘\\% KA runs 9 m. Again he turns tnd runs 5 m.

' After this he turns @ nd runs 12 m and finally
, he turns tofighhand 6 m. Now to which direction

: is Sundar facing? Jating { (TS‘/N"
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B) EAST
C) WEST
D) SOUTH




F Q.2 A man is walking in south direction, first he q
RWK n@

run 4 km then tur and cover 5 km then
/(}(/( turn 6 time right and 4 time left , so in which
direction is he facing now?
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a)Nonh
b) South

c) East \ ./~

d) West
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Q. if a clock indicates 6:00, in this time if min hand |
indicates in east direction, after some time that
clock shows 9:15 ,so hour hand indicates in which

direction?
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l a) north | X '
" b) south
C) North east\/

d) North
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B(amcm) km in West direction then tur and cover 8 km then turn
(Hz = ,@and cover 9 km then turn right and cover 12 km in which

direction and how far)'s he from starting point?
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B_( Q.one day Ramesh started walkmi from his house he walks 6
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Q;""J'A) 25km/ NW \\/ }'—’ _'_°+°1 Qi

b) 20km / NEA
P= C) 25 km / SE X Qhovteat it
(; - D) 20 KM / SW —




P started from his house towards west. After q
walking a distance of 25 m. He turned to the

right and walked 10 m. He then again turned to
the right and walked 15 m. After this he is to

turn right at 135 and to cover 30 m. In which
direction should he go? J_;o,_§°
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A) NORTH
B) SOUTH
C) EAST
D) NONE
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